SECONDARY SCHOOL EXAMINATION - 2024 (ANNUAL)

Sub. Code - 115

Model Set

COMMERCE (Additional)
qiftrs (srfafRad faw)

T : 3w 15 frre qorf® - 100

Time : 3 Hrs. 15 Minutes Full Marks : 100

@l 9Tl B GE&AT - 100 + 30 + 8 = 138

Total no. of Questions : 100 + 30 + 8 =138

gEnefgl & fory [eer —

Instructions for the candidates :-

1.

Wienfi OMR ITR—UF® W 30T U GRADT HHATD (10 Dbl )
3raey ford |

Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

TRIeTeft Y 319 Wl W IR T |

Candidates are required to give answers in their own words as far
as practicable.

IR SR BIRA W R gy i qurie Piffe wxd §

Figures in the right hand margin indicate full marks.

TeHl BT AFYdd U & forg 15 e &1 rfaRed ww fam ar 7

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
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TE UIA-UF T Ul H B, Gus—3 AR Trs—9 |

This question booklet is divided into two sections : Section-A, and
Section-B.

QGus—3 H 100 IS U ®, fdH 9§ fh=gl 50 UL BT IR oAl
fard g1 50 ¥ 3G IR T W UUH 50 IR B B HedidA fhar

SITUTT | % U9 & foIv 1 3id fAuiRa 8| s I8 SR &I Sudel

PRIY MU OMR—IR U3& ¥ & T W&l gl Bl Blel /el dfcT U 9

Te B | fFA W UPR & @EcR /IRl e /&ols /ARG AT BT
SR GBI H TANT AT AT 8, T UIer gRomH =T 811 |

In Section-A, there are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answers will be
evaluated in case more than 50 questions are answered. Each
question carries 1 mark. For answering these darken the circle
with black/blue ball pen against the correct option on OMR Answer
sheet provided to you. Do not use Whitener/Liquid /Blade/Nail etc
on OMR Sheet, otherwise the result will be treated invalid.

Gus—d H 30 AGITNI U §, RH ¥ =gl 15 WAl BT IR <Al
afard g1 u% weE & oy 2 o MuiRd | 39a sifaRad g9 @ve
# g " Irg yed A I B R | 5 4 ueHl &1 IR <A B
TG 9o & forg 5 ofw FMuiRa €



In Section-B, there are 30 short answer type questions, out of
which any 15 questions are to be answered. Each question carries
2 marks. Apart from these, there are 8 Long answer type
questions, out of which any 4 questions are to be answered. Each

question carries 5 marks.

8. P TR & Seldgi-d IUSHRON BT YIRT quiaar afefd & |

Use of any electronic appliances is strictly prohibited.

¥Yus—3l / Section A

geqf-ss 939/ Objective Type Question

Ue W& 1 W 100 6 & UG U @ 9 IR e Ry v € fH 9 @
gl 2| fbsl 50 YAl & SR IO NI g U Wl fddbed @l OMR e W
fafea o | 50x1=50
Question No. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. 50x1=50
1. YIUTe BT FAYH TANT g3 T |

(A) 9Ra H (B) Sceil |

(C) 3™Rapr # (D) 3H | dIs 2l

Book-Keeping was firstly introduced in

(A) India (B) ltaly

(C) America (D) None of these



crgie # i 8ral &—
(A) R eF—3 @ (B) iR g -39 @1
(C) (A) T (B) ST T (D) 57 & ®IE =&

In accounts recording is made of
(A) Financial transaction (B) Non financial transaction

(C) Both (A) and (B) (D) None of these

QAT & STHGTdT & —

(A) BTN
(C) wrefer

The Father of Book-Keeping is:

(B) o[ra uRyaATedT
(D) 37 & ®ig &I

(A) Carter (B) Lucas Pacioli
(C) Marshall (D) None of these
AT & —

(A) BriTaR (B) ®f®

(C) wa (D) A

Current asset is :

(A) Furniture (B) Stock

(C) Building (D) Land

el ST & —

(A) AR (B) Y

(C) 4% (D) =



Current liability is :
(A) Creditor

(C) Bank

T FERT § —

(A) e

(C) AIer ®R
Tangible asset is ;
(A) Goodwill

(C) Motor Car
R FHRT §

(A) T®
(C) Ad<
Fixed Asset is

(A) Stock

(C) Cash

ST A B g ey T 8

(A) BT T

(C) (A) T (B) =t

(B) Cash

(D) Machinery

(B) teveH
(D) 57 ¥ &g &

(B) Patents

(D) None of these

(B) weiTeR
(D) I

(B) Furniture

(D) Salary

(B) =iy
(D) T 1 &g TE

Which of the following is not a tangible asset ?

(A) Copyright

(C) Both (A) and (B)

(B) Goodwill

(D) None of these



10.

11.

12.

T AR BT f=T BF BT & <1 8, HeAT &

(A) TTeR (B) &TaR

(C) faspam (D) 37 & BIg el
A person to, whom money is owed by a firm is called
(A) Creditor (B) Debtor

(C) Seller (D) None of these

SIEXT oIRdT Yool H TUh oid—ad X AmE=Ia: fha- get gvifad 8 & ?

(A) 2 (B)3

(C)4 (D) s @I 7Tef

How many sides are usually affected by a transaction in Double Entry
system ?

(A) 2 (B)3

(C) 4 (D) None of these

W@ T @ § —

(A) aRdfde Qe (B) AT AT

(C) e @rar (D) 37 & BIF L

Proprietor’s Account is :
(A) Real Account (B) Nominal Account
(C) Personal Account (D) None of these

e Yol w0 50,000 B, JIAT HO 30,000 & AT FHRTAT BT o FT & ?

(A) 0 20,000 (B) 0 80,000



13.

14.

15.

(C) %0 40,000 (D) %0 50,000
If the capital Rs. 50,000 and Liabilities Rs. 30,000 then what will be the

value of Assets ?

(A) Rs. 20,000 (B) Rs. 80,000
(C) Rs. 40,000 (D) Rs. 50,000
EANECIRI

(A) AT ETT (B) ardfde e
(C) =ferrTa e (D) T & BIg e

Interest A/C is

(A) Nominal A/C (B) Real A/IC

(C) Personal A/C (D) None of these

"I ATel IR B W SfdT TAT S dTell sl & Wil s’ aH 8-

(A) SfdTTa @ &1 (B) ar<fdsd & &1

(C) AT & &I (D) 37 & P I

The rule “Debit what comes in and Credit what goes out”, is of :-
(A) Personal Account (B) Real Account

(C) Nominal Account (D) None of these

Ugel A1 FHT | YA & oy fT 7T B @7 FET ol §

(A) @maiR® B (B) T&e Ge

(C) e (D) &7 & F1¢ T

A discount given for early or timely payment is called



16.

17.

18.

(A) Trade discount (B) Cash discount

(C) Commission (D) None of these

d Fffdpy Wrar fha UeR &1 @rdr g ?

(A) fdaTa @rar (B) aredfdes e

(QRILEIERCIN]I (D) wfafafer safadera wamar

What type of account is Bank Overdraft ?
(A) Personal Account

(B) Real Account

(C) Nominal Account

(D) Representative Personal Account

AHATT YTd DT SqlaNU] ?5\'
(A) 9 T (B) Forgs @
(C) =Tt QT (D) 3% ¥ &

The example of Nominal Account is

(A) Salary account (B) Wages account
(C) Interest account (D) All of these
SRR UfshaT H Ugell Hed -

(A) TH—<AT DI TEAT HRAT (B) IISTHHAT I
(C) Trarasr § Tl &R (D) 578 ¥ BIg &I

First step of accounting process is :-

(A) Identification of transactions  (B) Preparation of Journal



19.

20.

21.

22.

(C) Posting to ledger (D) None of these
s 981 § BII— d-—ad T8l ford Sird § 2

(A) FTHE gRHfd & (B) SuR U &

(C) (A) T2 (B) <l @ (D) s7¥ & @IS T
Cash Book does not record transaction of -

(A) Cash nature (B) Credit nature

(C) Both (A) and (B) (D) None of these

<1 @M dTell Ahs T8 & ThR § —

(A) P Td Bkt @ (B) 9% Td wKh @
(C) s Td I T (D) s & @I

The type (s) of two column Cash Book is/are

(A) Cash and discount column  (B) Bank and discount column
(C) Cash and Bank column (D) All of these

{1 T &7 U qAYC & 4 T H g S ® 2

(A) e T (B) ®iTeR &Tar

(C) 7ef e (D) =7 & &Y
Balance of which account is shown at the debit side of Trial Balance ?
(A) Cash Alc (B) Funiture Alc

(C) Machinery Alc (D) All of these
Jefue (IR fFar Smar §

(A) ST 17T (B) faa=R 31 &f



23.

24.

25.

(C) et 1 B (D) fary Ry &1
Trial Balance is prepared on :

(A) 1% January (B) 31°' December
(C) 1°* April (D) A particular date
G ® a7 UeT Bl PHET Sl 8 —

(A) =9 et (B) ST Ut

(C) (A) T (B) = (D) s & @I =T
The left hand side of account is known as -

(A) Debit side (B) Credit side

(C) Both (A) and (B) (D) None of these
NEZSRCIRIRSESIRS R -

(A) IRAAS Frer A (B) Sfdaa @mar |
(C) AT &TaT | (D) s1H & P 8

Cash Account is related with :-

(A) Real Account (B) Personal Account
(C) Nominal Account (D) None of these
ISl ST FH a8 —

(A) e @ (B) srfaaTa T =
(C) (A) 3R (B) T & (D) 57 & B 7Tl

Capital Account is related with :-

(A) Personal Account (B) Impersonal Account
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26.

27.

28.

(C) Both (A) and (B) (D) None of these
G198 B AT F T g7 Sl § 7

(A) I—<E (B) fasea 921

(C) Tefue (D) T & PIg TEl
What is prepared from balance of ledger ?

(A) Purchase Book (B) Sales Book

(C) Trial Balance (D) None of these

B @1l BT T I 7

(A) TS o H—<Al BT 3fferas  (B) Wt el ST & BT

(C) fopare weT (D) 3774 ¥ B e
The main objective of book-keeping is

(A) Recording of business transaction

(B) Functions related with games

(C) Book reading

(D) None of these

RTEETIS o—a ¥ ot uef 81 § ?

(A) =1 (B)

(C) ar (D) dr=

How many sides are there in business transaction ?
(A) Two (B) Three

(C) Four (D) Five
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29. UM W ARG 2
(A) AR T | (B) arecifares @ &
(C) T @ (D) 3T & BIs &
Commission Account is related with
(A) Personal A/C (B) Real A/C
(C) Nominal A/C (D) None of these
30. IA-F8l Uiy H fBa @ B ® ?
(A) TR GEIS
(C)zw (D) uf=
How many columns are there in ledger format ?
(A) Four (B) Eight
(C) Ten (D) Five
31. & @ & ST AY BT R BEd & 7
(A) 9 srfarfamd (B) ¥& # Jps
(C) (A) T (B) < (D) 57 & @I 7Tl
What is the credit balance of Bank account called ?
(A) Bank Overdraft (B) Cash at Bank
(C) Both (A) and (B) (D) None of these
32, 3~ W TRIR &R § FdYe a7 T0MT HRd © 2

(A) Febel &M /BT (B) g€ o /&1
(C) e / §ab 3y (D) 377 ¥ g 7L

12



33.

34.

35.

What is calculated at first when final account is prepared ?

(A) Gross Profit/loss (B) Net Profit/Loss

(C) Cash/Bank Balance (D) None of these

afe et &1 G < Ry B T S 8, o 59 b & 7

(A) T9aT BT 3G HRAT (B) faa1 &1 foiged o=

(C) fdet T 3FTeRTT (D) fde1 &1 FTdTHROT

If payment of a bill is not made on due date, then it is called -

(A) Honouring of the bill (B) Retiring of the bill

(C) Dishonouring of the bill (D) Renewal of the bill

MHRH geel 8 R gRuaaar fafdy gxit 2

(A) AT fe (B) g &1 fa=

(C) St fam (D) = fsT a1

In case of sudden holiday, maturity date falls on

(A) Next day (B) Previous day

(C) Same day (D) After three days

01.01.2023 HI AT 7 Hollg W 3 A8 @R BT (H 9 w0 2,000 & oy
forar | faa @1 <= fafr grh

(A) 01.04.2023 (B) 04.04.2023

(C) 03.04.2023 (D) 39 & PIg ARl

On 01.01.2023, Roma draws a bill on Sanjeev for Rs. 2,000 for 3

months. The maturity date of the bill will be
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36.

37.

38.

39.

(A) 01.04.2023

(C) 03.04.2023

BT ST ST & —

(A) =T, SFRIfRT R

(C) =1, w1 W
Depreciation is charged on
(A) Current asset

(C) Current liability

faspa 981 H foram <irar @

(A) 911 BT fasha
(C) &+t g fashy

In Sales Book, record is made for

(A) Sales of goods

(C) All cash sales

fferRad # SF—a1 @19 ¥ © ?

(A) T
(C) e

(B) 04.04.2023

(D) None of these

(B) it wHfiy W
(D) 374 & BIg T

(B) Fixed Asset

(D) None of these

(B) 9 SR Ay

(D) AT &1 |1 YR s

(B) All credit sales

(D) All credit sales of goods

(B) STER

(D) a7

Which of the following is a Current Liability ?

(A) Capital

(C) Creditor

(B) Debtor

(D) Building

Grat o G gar @ Sitg B ®



40.

41.

42.

(A) ISHFET & §R (B) @eUe & NI

(C) 98 @l gRT (D) 378 | PIE =

The arithmetical accuracy of books of accounts is verified
(A) through Journal (B) through Trial Balance
(C) through Ledger (D) None of these

U afdd, R BH BT BUAT ST B, BEATT &

(A) oFFTeR (B) eER

(C) (A) 3R (B) &l (D) 5779 ¥ ®Ig TEI
A person, who has to pay money to the firm is called
(A) Creditor (B) Debtor

(C) Both (A) and (B) (D) None of these

e I Adhe dA1d 991, §9@ fo1g AT (Hfee) fhar o

(A) g BT @l (B) fasra @rar

(C) e T (D) 34 %1 ®Ig TE
Goods sold to Sohan for cash, what will be credited to ?
(A) Sohan’s A/C (B) Sales A/C

(C) Cash A/C (D) None of these
(A) = (B) s

(C) 9 a1 S (D) 37 & &g TEI

The balance of ‘Cash Column’ of Cash Book is always
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43.

44,

45.

(A) Debit (B) Credit

(C) Debit or Credit (D) None of these
Jage &1 faRvan 8

(A) T JHIORIRT AT BT TAT ©

(B) ¥ @rdi T IR ¥

(C) I8 <9 @I IR XA BT MR &

(D) $74 & &I

The features of Trial Balance are

(A) It is an evidence of arithmetical accuracy

(B) It is summary of accounts

(C) It is the basis of preparing final accounts

(D) All of these

AT—BTH TTar FT 9 &R & oy G far Sar ?

(A) F&d AT AT Fha B (B) Ig o™ T g B
(C) e o faxira Rexfay (D) 37 & |
Profit and Loss account is prepared to find out what ?

(A) Gross Profit or Gross Loss (B) Net profit or Net Loss

(C) Financial position of business (D) All of these

Th I 3fdh 19 3R ST B+ BT Ufdfee o ded & —
(A) faf3r o (B) sifem oy
(C) (A) @ (B) &I (D) s 9| Big &I

16



46.

47.

48.

An entry with more than one debit and credit is called -

(A) Compound entry

(C) Both (A) and (B)

T (Sf3e) SMT wxar § —
(A) Tl @ # iy

(C) =1 @rar 9 &1
Debit indicates -

(A) Increase in Asset A/IC
(C) Decrease in Liability A/C
TR AT & b —

(A) faf-a faus

(C) ufcr=tm u=

Indian currency is a -

(A) Bill of exchange

(C) Promissory note
JERTT (RSt B & —

(A) =g, et

(C) T foraer

Stock is

(A) Current asset

(C) An investment

17

(B) Final entry

(D) None of these

(B) UST @mar # &A1
(D) 3775 & &+

(B) Decrease in Capital A/C

(D) All of these

(B) gHTe

(D) 9% STUC

(B) Cheque

(D) Bank draft

(B) =it |ty
(D) 3% & BIg T

(B) Fixed asset

(D) None of these



49.

50.

51.

52.

SGIHT AT &
(A) SIS Bl (B) g™ a1
(C) (A) T (B) Tt (D) 79 9| BIg &I

Accounting is the language of

(A) Computer (B) Business
(C) Both (A) and (B) (D) None of these
FHRT & W 6T A9 AQd BT &

(A) M (B) ST

(C) (A) T (B) < (D) s & ®1g &

The balance of assets account is always

(A) Debit (B) Credit

(C) Both (A) and (B) (D) None of these
AGA H qherdl UM B oY e 8 —

(A) FR—AI (B) ST

(C) Taret =awT® HIe (D) 74 & ®Ig Tl

The essential for getting success in business is -
(A) Tax Evasion (B) Dishonesty

(C) Efficient business organisation (D) None of these

I BT 2T 8 ©
(A) = See (B) JaT ST
(C) =¥ Td T Seey (D) FR—aY

18



53.

54.

55.

The Objective of business is not
(A) Profit objective (B) Service objective

(C) Profit and service objective (D) Tax evasion

IR 3T ©
(A) SERT BT (B) a1 &1
(C) (A) Term (B) < (D) T4 & BIg &I

Trade is the part

(A) of Industry (B) of Commerce
(C) Both (A) and (B) (D) None of these
U IR Bl 9T Hed & [SIH AT fhar Sirar g 7
(A) Fatd IR (B) 3maTd |ATIR
(C) <9 =M (D) 374 3 &g el

Business in which import is carried, called -

(A) Export trade (B) Import trade
(C) Home trade (D) None of these
THIDH] AR BT HioAAl ©

(A) BT STHR (B) o guht

(C) sreifir i (D) 7 & W

The difficulties of a Sole trade is/are
(A) Small size (B) Limited Capital

(C) Unlimited Liability (D) All of these

19



56. T BT dCarT T fHAT ST I8 HAT 94T © —
(A) ThId!I AR GIRIEEL
(C) Tl (D) 577 & @IS &l
“Profit do not be shared.” This statement refers to -
(A) Sole Trade (B) Partnership

(C) Company (D) None of these
57. WARIGRNI &I RATYAT HAdwT 2l &

(A) @fal & drg Fwehar (B) BT ERT

(C) ha—fdsha grI (D) TRIR & AZH~ R
Partnership is formed as a result of

(A) An argreement among individuals

(B) By Law

(C) By Purchase-Sale

(D) By License from the Government

58. U AIAGId HHAl § Fawl l <AdH G&AT B8l ©
(A) 02 (B) 200
(C) 07 (D) 3rfifad
The minimum number of members in a public company is
(A) 02 (B) 200
(C) 07 (D) Unlimited
59. Y 3ff&h TR W TSl AT ©

20



60.

61.

62.

(A) =Te] T W (B) 99 @ W
(C) WY ST WA W (D) 395 & PIg el

The maximum rate of interest is allowed on :

(A) Current Account (B) Saving Account

(C) Fixed Deposit Account (D) None of these

IR BT d=T §F 8

(A) 8o dlo 3Mgo (B) w0 o amgo
(C) amo wo 3mgo Hio Mo (D) Tdo o Tho o

The central bank of India is

(A) RBI (B) SBI

(C) ICICI (D) HDFC

DT JHT AR U A e a8 & fory fpar smar € 2

(A) St §rHr (B) 31 dr

(C) wrafe drm (D) 377 & @IS &l

Which insurance is normally for a period of more than one year ?
(A) Life Insurance (B) Fire Insurance

(C) Marine Insurance (D) None of these

IR H eIC BT STANT Bl & —

(A) fermerti % (B) sl #
(C) werara (D) 577 & Wit
In India, internet is used -

21



63.

64.

65.

66.

(A) In Schools (B) In Hospitals

(C) In Business (D) In all of these

Td 3BT S0 BIaT @

(A) TR (B) AT ¥ A€ @A ARG
(C) srfecira (D) 57 & it

A good brand is

(A) Simple (B) Easy to remember

(C) Unique (D) All of these

IEEIH Ml R IRY 991 A B
(A) DI Thg (B) ®acT SUR
(C) 7o Ud SUR Q=T (D) s & Bl &

On multiple shops, goods are sold on

(A) Only Cash (B) Only Credit

(C) Both Cash and Credit (D) None of these

FDI ¥ 3 &

(A) facelt gyoae faer (B) Mi:ged ycue foraer

(C) it <1 foyerer (D) 39 ¥ @I58l

FDI means

(A) Foreign Direct Investment (B) Free Direct Investment
(C) Fixed Deposit Investment (D) None of these

T B o § YR § e A=y feaar g ?

22



67.

68.

69.

(A) ffamtt @ (B) oI TRl Bl

(C) e iRl & (D) Ay Goft el @l

Who has the highest number of people in the field of business in India?
(A) Manufacturers (B) Wholesalers

(C) Retailers (D) Joint stock company

IOHTFAT AT JMATIH B g7 ?

(A) 1956 | (B) 1990 ®

(C) 1986 H (D) 1985 H

When was the Consumer Protection Act enacted ?

(A) in 1956 (B) in 1990
(C) in 1986 (D) in 1985
% TH e ®

(A) Refors (B) erefef
(C) HARSH (D) o

Bank is a/an institution.

(A) Educational (B) Religious
(C) Entertainment (D) Financial
A% AR & 0T 7

(A) SHTTERT (B) wTdt afaia
(C) TRsml (D) = & wfr

The merit of a successful businessman is

23



70.

71.

72.

73.

(A) Honesty (B) Effective Personality

(C) Laborious (D) Al of these
TP ATANT BT AT BIaT §

(A) st (B) fera

(C) (A) 3R (B) arif (D) 577 ¥ IS &

The liability of Sole trading business is

(A) Unlimited (B) Limited

(C) Both (A) and (B) (D) None of these
IR ATSIGRT FFIH aTRd gaim o —

(A) 1930 H (B) 1932 #

(C) 1956 H (D) 374 & PIg 7l
Indian Partnership Act was passed in

(A) 1930 (B) 1932

(C) 1956 (D) None of these
EHATRIS SRTH & HRIT §

(A) FERT (B) #ifr®

(C) mrapferen (D) 7 & el

The cause of business risk is/are :
(A) Human (B) Physical
(C) Natural (D) All of these

FHedT AT TIR ATl GRIT @1 ST ©
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74.

75.

76.

(A) MIESRTE H (B) d& #
(C) &1 vt H DERNGR
Raw material or finished goods are kept safe in
(A) Warehouse (B) Bank

(C) Insurance company (D) Hospital

IS Gl R T3 B B Bl ©

(A) aifear (B) afear

(C) s (D) 377 & PIx e
The quality of goods on multiple shops is

(A) Inferior (B) Superior

(C) Normal (D) None of these
9IRS AT Ul & Heg B dTell IR Byl &

(A) < =R (B) faef e
(C) wIHT =R (D) 57 ¥ H1g T
The trade between India and Nepal is called

(A) Home trade (B) Foreign trade
(C) Local trade (D) None of these
83.567 QI WRI® 3Pl & AiHT § —

(A) 83.57 (B) 83.56

(C) 84 (D) 8 x 10

83.567 correct to the 2 significant figures is :-
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77.

78.

79.

(A) 83.57 (B) 83.56

(C) 84 (D) 8 x 10

80.386 X 50.678 HT AMdH HI BRI

(A) 8.0386 x 5.0678 (B) 0.80386 x 506.78
(C) 803.86 x 5.0678 (D) 0.80386 x 0.50678
The standard form of 80.386 x 50.678 be

(A) 8.0386 x 5.0678 (B) 0.80386 x 506.78

(C) 803.86 x 5.0678 (D) 0.80386 x 0.50678

TP T BT Jod W0 2.75 & I 1,000 T3 BT oI 1M
(A) ®0 2,075 (B) %0 2,750
(C) =0 2,705 (D) w0 275

If the price of one article is Rs. 2.75, then the price of 1,000 articles will

be
(A) Rs. 2,075 (B) Rs. 2,750
(C) Rs. 2,705 (D) Rs. 275

?0 625 BT 5 YT If¥d 1T BT X F 2 I H AR Gl ST
(A) %0 62.05 (B) %0 62.50
(C) %0 62.40 (D) %0 65.20

The Simple interest on Rs. 625 at the rate of 5% per annum in 2 years
will be

(A) Rs. 62.05 (B) Rs. 62.50
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80.

81.

82.

(B) Rs. 62.40 (D) Rs. 65.20

40, 80 T e Ufererd 7 ?

(A) 100 Ffcrere (B) 120 Ufrerd

(C) 150 ufcrera (D) 50 ufcrerd

40 is what percent of 80 ?

(A) 100 % (B) 120 %

(C) 150 % (D) 50 %

g fashdT U axg 20 R &9 o) w0 600 # S9aT © oI a%d &1 &HA

I &
(A) 30 550 (B) 0 500
(C) w0 480 (D) ®0 720

A trader sells an articles for Rs. 600 at a profit of 20% then purchase
price of article is

(A) Rs. 550 (B) Rs. 500

(C) Rs. 480 (D) Rs. 720

i st = qae + X A X ©

(A) =TT B) =X

(C) w7 (D) 74 & @15 el

If Amount = Principal + x then x is

(A) Interest (B) Rate

(C) Time (D) None of these
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83.

84.

85.

86.

ST &1 &l &1 A1 &7 8 2
(A) 3= (B) Sfelk
(C) Rarat (D) <rebt

What is the name of currency of Japan ?

(A) Yen (B) Dollar

(C) Riyal (D) Taka

0.816 IR &

(A) 81.6 ufcrerd (B) 0.816 ufcrerd
(C) 8.16 Tferera (D) s & @I -7

0.816 is equal to
(A) 81.6 % (B) 0.816 %
(C) 8.16 % (D) None of these

400 BT 30 UfA9Td = X BT 10 UfAId + 2, X T A &

(A) 1200 (B) 1180

(C) 1000 (D) 379 & Pig Al
30 % of 400 = 10 % of x + 2, the value of x is

(A) 1200 (B) 1180

(C) 1000 (D) None of these

50 Gfcrerd AT 40 U & HAMER dSC & AAG Udh dccl o
(A) 90 uferera (B) 80 ufcrera
(C) 70 wfererd (D) s ¥ 31 TR
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87.

88.

89.

Successive discounts of 50% and 40% amount to a equivalent

discount of
(A) 90 % (B) 80 %
(C) 70 % (D) None of these

Il 1 SR = 80 WO dl 150 SR =

(A) 0 11,000 (B) %0 12,000

(C) %0 11,200 (D) 37 & P I
If 1 Dollar = Rs. 80 then 150 Dollars =

(A) Rs. 11,000 (B) Rs. 12,000
(C) Rs. 11,200 (D) None of these
65 NI Ub AT BT fobe=T wfererd & ?

(A) 65% (B) 6.50 %

(C) 35% (D) 100%

65 Paise is what percentage of one Rupee ?
(A) 65% (B) 6.50 %
(C) 35% (D) 100%

U fIene § BEl & G160 U 2, Afe BTsl &) 4T 240 § o

BT B TT BRI |
(A) 360 (B) 600
(C) 240 (D) T & 1 TEf

If 60% of the students in a school are boys and the number of girls is

240, the number of boys is
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90.

91.

92.

(A) 360 (B) 600

(C) 240 (D) None of these

F0 20,000 3BT &I & TH Tellfdord B HO 15,000 H 99T TAT| I Bl T
g

(A) 15% (B) 20%

(C) 25% (D) 50%

A Televison of list price Rs. 20,000 was sold for Rs. 15,000. The rate
of discount is

(A) 15% (B) 20%

(C) 25% (D) 50%

w0 500 @ faha W 25%% UfRrd @7 &R HHEH BN |

(A) 0 127.50 (B) 0 125.50

(C) %0 25.50 P ELEEIERE

At the rate of 25%% commission on a sale of Rs. 500 will be

(A) Rs. 127.50 (B) Rs. 125.50
(C) Rs. 25.50 (D) None of these
120 180

L BT I ®

20 20

(A)2:3 (B)s:2

(C)4:3 (D)6 : 18

120 180

— : — means

20 20

30



93.

94,

95.

(A)2:3 (B)3: 2
(C)4: 3 (D)6 : 18

g alferal RTaH T I oidR Al axgail 3 HHd &1 g8 78, Hedl §

(A) TaIa aTferdT (B) 3mgf<y arferent

(C) TorTcHd dferan] D EEEIERE
The table showing the value of articles from 1 to 9 is known as
(A) Table on Nine (B) Frequency table

(C) Comparative table (D) None of these

Arar den War f&A wF AR €1 e Yol A w0 3,50,000 UG w0
5,00,000 T | ST YSI &7 SFIATT BT

(A)5:7 (B)5:3

(C)7:10 (D)10:7

Sita and Gita are partners in a firm. Their capital are Rs. 3,50,000 and
Rs. 5,00,000 respectively. The ratio of their capital will be

(A)5:7 B)5:3

(C)7:10 (D)10:7

foreft avg @1 o oo W T ST B, S FEd

(A) T 7T (B) fasra g
(C) < (D) oM
The price at which an article is sold is known as

(A) Purchase price (B) Selling price
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96.

97.

98.

(C) Profit (D) Capital
Ry vd fas & 907 &7 1 ud 5 : 9 ©| Ale REq & 999 H0 6,000 B
ar f&a= &1 9a= g

(A) 0 10,800 (B) 0 12,000

(C) %0 10,000 D ELEEIERE!

The ratio of the salaries of Shivam and Kishan is 5 : 9. If Shivam’s
salary is Rs. 6,000, then Kishan'’s salary be

(A) Rs. 10,800 (B) 12,000

(C) Rs. 10,000 (D) None of these

756543 HT Jq AF Adbs & Afde BN

(A) 7565 (B) 7564

(C) 7566 (D) 379 & IS A=l
The value of 7566543 nearest to hundred is

(A) 7565 (B) 7564

(C) 7566 (D) None of these

5 oiieR # famr J=cietiex g ?

(A) 500 (B) 5000
(C) 50 (D) 0.50
How many centiliter will be in five litres ?
(A) 500 (B) 5000

(C) 50 (D) 0.50
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99.

100.

Afd X: 6 :: 12 : 24 & A X BT A BRI

(A)3 (B) 6

(C)12 (D) 18

Ifx:6::12: 24, the value of x is

(A)3 (B)6

(C)12 (D) 18

5 ufcrerd A <ot & &% W F0 10,000 HT 6 HEM BT AR TS R
(A) 0 5 (B) %0 25

(C) %0 30 (D) %0 250

The simple interest of Rs. 10,000 @ 5% for 6 months will be
(A)Rs. 5 (B) Rs. 25

(C)Rs. 30 (D) Rs. 250

gus—9q / Section-B

oY S U3 / Short Answer Type Questions

U AT 1 ¥ 30 IP g S | T I B 15 U B I[KR o | TP T
& farg 2 of PiRa § (15x2=30)

Question No. 1 to 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. (15x2=30)

1.

2.

UHTHI AR BT g1 fagrvdrei &1 ford | 2

Write two characteristics of Sole trading business.

anffes fohamell W 39 T IHed & ? 2
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10.

11.

12.

What do you mean by economic activities ?

9% & fb=i & Bl o ford |

Write any two functions of Bank.

Faarg &1 R @ § ?

What are the characteristics of Business ?

ISR T & 7

What is Self-employment ?

o TN T FaxT AR H Y@ af A=<k DI ford |

Write any two main differences between wholesaler and retailer.
RIS &R T § 2

What is Inernational Trade ?

ARG[h-T & Dig &I oY Iai |

State any two advantages of accounting.

IRERTTT TR0 & AR WAl & YHR I |

State the types of accounts according to traditional classification.

RTSTHTIAT BT UTR™YT IfoTU |

Give the format of Journal.
T G daTell Jds 98! | 3T 97 FHSd © 2

What do you mean by two-column Cash Book ?
AR f5d Ped € ?

Who is a creditor ?
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13.

14.

15.

16.

17.

18.

19.

20.

21.

a1 @1 3FeR &Y AT § 7 2
How does bill dishonours ?

fr=gl T T Rl & =\ 9an | 2
State the name of any three current assets.

e 7 %01,00,000 ¥ AR YR fhar | Jo-ma @1 gfafe a1 2?2

Sohan started business with cash Rs. 1,00,000, what Journal
entries will be passed ?

IR QAT g9 & I T 8 2 2
What is the objective of preparing Trading Account ?

qHE ICl FAT & ? 2
What is Cash discount ?

T A T I & ? 2
What is meant by purchase ?

Th TG Bl Hd FHERMEAT F0 2,50,000 3R Yol F0 1,50,000 & @
ST BT T BN | 2
If total assets of business are Rs. 2,50,000 and capital Rs.
1,50,000. Calculate total liability.

@I HT aR9IiRT o | 2

Define Goodwill.
fafem far & <1 uell &1 ford | 2

Write two parties of Bill of Exchange.

35



22.

23.

24,

25.

26.

27.

28.

JTf~d¥ GTdT Hd g7 SITaT & 2

When is the Final Account prepared ?

1 .
20,16065T621;rf%1?raa%maﬁ| 2

Calculate 6%% of 20,160

120 <flex gg ¥ 60 URrera g dT 40 Ui o+t €, AT g9 # U @
AT 9T | 2
In 120 litre milk there is 60% milk and 40% water. What is quantity
of water in milk ?

a1 Ufcrerd AR SIS @1 &R W W0 75,000 B HAYT W 5 qUl H 0
1,05,000 B SITQIT | 2
At what percent rate of simple interest Rs. 75,000 will amount to
Rs. 1,05,000 in 5 years ?

TH TSI W0 4,500 H HA AT AT IR w0 3,600 H fIHa gaw o =M

BT TfIeTd T BRI ? 2

A watch was purchased at Rs. 4,500 and sold at Rs. 3,600 then

what will be the percentage of loss ?
1.21 X 2.42 HT A9 SIFAd & &I I qdH DT | 2

Find the value of 1.21 x 2.42 to two decimal place.

fdT odiem H 550 IHNGAR A% W@ AR Bl IHQAR] BT 45 Uferd

JAH B T | 984 a1l B ol AT AT oA ? 2

36



29.

30.

In an examination 550 were successful and 45% of the total
candidates failed. What was the total number of candidates ?

IfE WO 100 BT HHYE HO 5125 B Tl WO 10,000 BT HARE fba
BRI ? 2
If commission on Rs. 100 is Rs. 5.125, then how much
commission will be on Rs. 10,000 ?

quies & AfTdhe A Marel — 6425.48 2
Find the nearest integer value of 6425.48

e a8 939 /Long Answer Type Questions

T AT 31 W 38 T IR U 2| 398 9 bl 4 U @ SR ¢ | uAP U

& fory 5 of MR & (4x5=20)

Question no. 31 to 38 are Long answer Type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

32.

33.

ASIEN & Ui faQrydreli ol ford | 5
Write five features of Partnership.

ARSI B USRSl A &g o™ Bld o | U fh=sl dia o™i
®! Heg H ALy | 5
The business community gets many advantages from

warehousing. Briefly explain any five such advantages.

Jf~TH @Td W 3T T FHS & ? SHD I D T ST § 7 5
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34.

35.

36.

What do you understand by Final Accounts ? What are the
objective of preparing them ?

frforRaa o9l | 31 ATE 2023 &1 ToAUC IARY © URMEG Tidh HO
20,000, $hd W0 85,000, fdshd H0 1,00,000, T ATUR HO 8,000, YSil H0
60,000, IT9 WO 7,000, BS WO 5000, HHYT UG WO 2,000, &b
IRy %0 5,000, #ERI W0 58,000 | 5
From the following balances, Prepare a Trial Balance as on 31
March 2023 :-

Opening Stock Rs. 20,000, Purchase Rs. 85,000, Sales Rs.
1,00,000, Purchase Return Rs. 8,000, Capital Rs. 60,000, Salaries
Rs. 7,000, Cash Rs. 5,000, Commission received Rs. 2,000, Bank
overdraft Rs. 5,000, Machinery Rs. 58,000.

ISTHTET U WTdTee! § Blis ura orax foIfRay | 5

Write any five differences between Journal and Ledger.

Q1 @fem fay T €1 Ml fem § e aRd g0 98 SR

ferRay | 5
BIcTH—1 Pl cTH—2

1. g Tl A U grer SO IR o dTel el

2. QIS i@l YoTTell B. T& aR<fdd w@Tar 2

3. AfdaTd @ & a9 C. 991 =g zxolt Ug 9 My e+

4, ARATIS T & D. oF—<a+ & Ml U8l Bl okl PRl
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37.

5. FAFHEE W @ 194 E. 3 drell g%3ll &I M Td S drell

JIRAT DI ST

There are two columns. You have to match the correct option of

Column-1 to Column-2

Column -1

Column -2

1. Cash Account

A. Debit the receiver & Credit the

giver.

2. Double entry system

B. Is a Real Account.

3. The Rule of personal A/c

C. All expenses are debited & all

incomes are credited.

4. The Rule of Real Alc

D. Entry for the both aspects of the

transactions.

5. The Rule of Nominal A/c

E. Debit what comes in & Credit

what goes out.

PIE g9 FERT N & & I

2 I9T ¥ 08,800 TAT 3 IO H ®O 9,200

B SIaT § | A Jeaed &I Ay e | 5

A sum of money at simple interest rate becomes Rs. 8,800 in 2

years and Rs. 9,200 in 3 years then find the principal amount.
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38.

T I W0 1,080 ¥ fAma &R [ 10 uRerd @1 g B B | R
I W 39 97 9 & 20 wfrerd a9 91 &1 ? 5
There would be 10% loss if a book is sold at Rs. 1,080. At what

price should it be sold to earn a profit of 20% ?
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